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Bl (1) REZMEZNANEAAR, (2) ®A+B+C =71, Rik:
tan A+tanB+tanC =tan AtanBtanC; (3) EIfZ_EAARESMELER, IER:

sin® x—sin? y =sin(x+ y)sin(x—y) .
$IE: i i i3 . . T, . 27,
5 2. KIE: (1) sin(3x)=3sin x—4sin x=4smxsm(x+§)sm(x+?), (2)
c0os(3x) = 4co0s® x—3cos x = 4¢0s X cos(% — X) cos(X + %) .
513. = P#2ABC &R, EH% AP,BP,CP 453 BC,CA ABT+= D,E,F, A%

BC iy F 1745 %)% DE,DF T J,K . KiE: AJ=AK.

Bl 4. 51 2aABCHRIL, AN 2aABCHsMERMIIBAC f9hs, &M £BC
N
A
B C
Bl5. #aABCH, | 2 /BAC 4% —m, #E/BIC=" 2 51 A%BCH

M, KiE: 12 aABCHRAIL,
6. m AC23I7#EOB,OD £, AD,BC#X%TP. EMOP ¥4 £ZBOD, &

ZBODZZ(Z, ;kﬂE i+i:i+izzcosa
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%1 7. Mipk ABCD#H, AB%CDF&HE, AD%BCFEF, B HEEEE,
O(ABE), ©(CDE), ©(ADF), ©(BCF) % FT—= P . & P &% AB,CD,BC,AD

BEMANARXI, K LM, EiZrEaER, ER J,K, LM Mats.
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